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PAPER-4

Aptitude Test for Architecture

Mathematics & Aesthetic Sensitivity — PartA : Q. 1to 100
Drawing Aptitude — PartB : Q.1&2

PART-A / WTT-A ‘
MATHEMATICS & AESTHETICS SENSITIVITY / Tifuta 3R weafesw @fadifeadt

4 001. — 4 (0 +sin 0), y = a(1— cos0) B A
001.  Find =, ifx=a(® +sin 6), AR x = a (0 +sin 0), y = a(1— cos0) B

d: dy
—= ?
¥ = a(1= cosh). J; nE
102
(A) sin%0 (A) sin“0
0
(B) cos% (B) cos >
0
©) tan% (C) tan >
2
(D) tan20 (D) tan“6
002. Ifx2+%:7,thenx3+l—3willbe? o ﬁx +x__7 o x +x_‘_*—rmw
X X _
(A) 38 (A) 38
(B) 29 B) 29
(© 18 (C) 18
(D) 28 (D) 28
4-DD | [2] — .
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2 2
003. If ax2+bx+c=a(x—p),then, what | 003. ﬂﬁaxz-i-bx-i-c:a(x—p),ﬁ?ﬁa,b,

is the relation between a, b, ¢? ¢ ® 1 Gy BN
(A) b’ = dac (A) b’ = dac
B) 2b=a+c B) 2b=a+c
(C) b’ = ac (C) b’ = ac
(D) abc=1 (D) abc=1
004, Zt 2t 2P ilibe= 004, oL 4 2
. X—y x—|—y yz_x2W1 c =/ . xX—y x+y y_x2 {
(A) x+y (A) x+y
(B) 1 B) 1
©) -1 © -1
2 3 2 3
x +y x +y
D
(D) x2+y2 ( )x2+y2
. 1
005. 2sin®= x -+, then 005. 2sin0=x+ %, Te-
(A) x=+1 (A) x=+1
B) —1<x<1 B) —1<x<1
(C) x=1 ©) x=1
(D) None of these (D) S § HI3 &l
006. If x = tan 15° then what will be the value | 006. fe x = tan 15° a1 x + Lz ST HHE &1
2, 1L grm- ¥
of x + =.
X
A) 16 ®) 12 (A) 16 (B) 12
(C) 10 (D) 14 (€ 10 (D) 14
4 . 4
007. [f L8 G sSma_ 1, then cos o , sin'a COS4B sin4B
cos’ p sin2B 007. e cos’ B " sinZB -l cos o i sin’ o
4 . 4
co n
SPysnP o il be- BT HIH T BT~
cos'a  sin o
(A) 4 (B) 0
A) 4 B) 0
W 1 ® © % D) 1
© ¥ D) 1
4-DD| (3] T
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008. Ifxsin39+yc0539 = sinBcos® & x sin | 008. 3fQ xsin39+yc0539 = sin0 cosO 3 x
0=y cos 0, then x2 + 2 = 5 sin © = y cos 0 As x2 + y2 T HHE AT
(A) 0 B) 2 -
(A) 0 (B) 2
© 4 (D) 1 (©) 4 D) 1
009. sin225 =7 009.  sin 227 = ? 1 T &I
2-2 V2-V2
(A) ~ (A 73—
/3-2 /3-/2
B) —— B) —5—
24+ /2 2+ /2
O —F— (C) —=——
/2 V2
o) P22 o) P22
/2 /2
4
010. (36——2),its factors will be 010. (36—%),%{[@3‘@1'”—
a a
o el en ST
A) 6{x—35](6+% A) 6\x—% {6+
a a
X o x
B) 6|\x+%|6—% B) 6|\x+%5 | 6—%
B )X
©) 6\x—%l6+% ©) 6(x—)l6+%
B )X
D) 6\x—7 6= D) 6\x—7)\6—F
011. Ifa’+ b+ ¢ = ab+ b+ ca, then 011. IR &’ +b +c’ =ab+be+ ca, @A
a + b+ ¢’ will be equal to? a + b+ ¢ Terees s g ?
2 2
(A) 3(abc) (A) 3(abc)
(B) 3a’b’c’ (B) 3a’b’c’
(C) 3abc (C) 3abc
(D) None of these (D) T A g T8l
4-DD] [4] -
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012.  In a school, there are 1000 students, out | 012. UH TRa H 1000 BHEI § F 430 ASTRAT
of which 430 are girls. It is known that ‘ . o ]
430 W " 10% wefRal &
out 0f 430, 10% of the girls study in class 8l 39 ) 0% < ] 5 e |
XII. What is the probability that a student Tl & wuiferd wrgfeRal b1 TfeRdn =
chosen randomly studies in class XII qhft ?
given that the chosen student is a girl? 3 1
A ®B) 1g
3 1 10
(A) 4 (B) 10 1 3
| 3 © 3 (D) 5
© 3 D) 7
2
: 013. wwmfxzdxwmwgﬁm—
013. What will be the value of f x*dx after i
evaluating it? : (A) %
8 2
(A) § ®) 3
2 6
B) 5 © 7
6 7
©) 5 D) 3
7
D) 3
5 n/4
» 014. S V1 sin 2x dx? %1 W &1 8T -
014.  What will be S /T sin 2x di? ( /i) .
0
A) -1 (B) 1
B) 1 ©) 0
©) 0 (D) 378 | HI3 &
(D) None of these
1 1
015. What will be the value of S xe dx? 015. S x e dx 1 W T EAT -
0 0
A) 1 A) 1
1 1
(B) 5 ®) 5
€ 0 (C) 0
(D) None of these (D) ¥4 ¥ I3 T8l
4-DD| [5] ——
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1 32| 1 32|
016. If[1x1]|2 5 1||2|=0,thenwhat | 016. I [1x1] |2 5 1||2|=0,8dx
153 2| |x 153 2| |x
will be x? 1 HH BT 7
(A) —lor—7 (A) —13qur-7
(B) —2or-14 (B) —24dur-14
(C) —3or—6 (C) —3TqAT—6
(D) —4o0or-10 (D) —44dur-10
1 0 10 1 0 10
017. IfA= & I= ,thenfindK | 017. 3 A= & 1= ,dl Kot
—17 01 -1 7 01
so that A2 = 8A + KI. T Afg A2 = 8A + KL
(A) -3 (A) =3
B) 9 ®) 9
© -5 © =3
(D) -7 (D) =7
2 -1 —1 -8 —10 2 -1 -1 -8-10
018. If| 1 0 |A=|1 -2 —5 |what | 018 3|1 0 |A=|1 -2 —5|@
3 4 9 22 15 -3 4 9 22 15
will be A? AT qH-
(3 2 -7 (3 2 —7]
A) A= A) A=
) 7 -4 2 (A) 7 -4 2
(1 -2 —5] (1 -2 —5]
B) A= B) A=
®) 3 4 0 ®) 3 4 0]
(C) None of these ©) I O hIs &
7-4 0 7-4 0
D) A= D) A=
(D) [—2 6—2] (D) [—2 6—2]
019. What will be the maximum value of the | 019. e f(x)=— (x— 1)>+2 on R &I Aferehad
function f(x) =— (x — 1)2 + 2 on R? T =T B -
(A) 3 B) 1 (A) 3 (B) 1
©) 2 (D) 4 (©) 2 (D) 4
4-DD| [6] -
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020. Find the maximum & minimum value of | 020. e f(x) = [sin*x + 3| on R &1 2Aferhan
the function f(x) = |sin*x + 3| on R? T 1 B9
(A) Max -4 Min-2 (A) ATRAH — 4 =AaH — 2
(B) Max -5 Min -2 (B) 3Afeehad — 5 =AaH — 2
(C) Max -3 Min-1 (C) Afehad — 3 = — 1
(D) None of these (D) 319 ° i &I
021. What will be the point of local maximum | 021. e f(x)= x/1— x, x >0 foTu rfersran
and local maximum value of the function T 9 3frerdy T 1 BT
fx)=xy1—x,x >0 {
| (A) Point of local max —x = > Local
(A) Point of local max —x = > Local 2/2
2/2 max value — 3
max value — 3 5
) (B) Point of local max —x= 3 Local
(B) Point of local max —x= 3 Local | o)
2 max value =7 Na
max value 3.3 A 3
3 (C) Point of local max —x = ELocal
(C) Point of local max —x= ELocal 3/2
3/2 max value — 5
max value — 5 i
1 (D) Point of local max —x = 7 Local
(D) Point of local max —x =  Local 4./3
43 max value — =3
max value — =3
022. 3IfE f(2)=43 f(2)=1,d
022. Iff(2)=4and f(2) =1, then find lim xf(Z): ;f(x) 1 T 2 -
i ()~ 2/() y—2 X
x-2 X7 () 1 (B) 0
(A) 1 B) 0 (©) 2 (D) 3 ¥ HIE Tl
<) 2 (D) None of these
023. IR f)=x"+2x+ 7, @A f3)F IR
023. If f(x) = x + 2x+ 7, what will be /' (3) T BT -
(A) 3 (B) 5 (A) 3 B) 5
©) 4 D) 8 ©) 4 (D) 8
4-DD| [7] T
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024.  Let f(x) =|x| and g(x) = |’|, then— 024. WM f(x) = |x|d g(x) = |3, 4 -
(A) f(x) and g(x) both are continous at (A) f(x) and g(x) both are continous at
x=0 x=0
(B) f(x) and g(x) both are differentiable (B) fix) and g(x) both are differentiable
atx=0 atx=0
(C) flx) is differentiable but g(x) is not (C) flx) is differentiable but g(x) is not
differentiable at x =0 differentiable at x =0
(D) flx)andg (x)botharenotdifferentiable (D) fix)andg(x)botharenotdifferentiable
atx=20 atx=0
025. Let f(x) = (x+ |x|) |x|. Then for all x 025. HETf(x) = (x + |x]|) |x|. O P x b fIT-
(A) fis continuous (A) fis continuous
(B) f is differentiable for some x (B) f is differentiable for some x
(C) f'is continuous (C) f'1s continuous
(D) f&f both are continuous (D) f& f" both are continuous
026. ABCD is a parallelogram. If the 026. ABC{D T E@ﬁﬂ ¢ A A B CH
coordinates of A, B, C are (2, 3), (2, 4) feréaieh shwrat: (2,3),(2,4)9 (0, '2)73ﬁ al
and (0, —2) respectively, what will the D ¥fis < fdzmmes =/ g ?
coordinate of D. (A) x=2, y=-I
A) x=2,y=-1
() x= 2y (B) x=3, y=-2
(B) X = 3’ y= -2
(C) X = 13 Y= -3
(C) leay:_B .ﬁ .
D
(D) None of these D) FH H I A
. 027. G T 85 1 fzeM 3w | I 95 & I
027. If X 85 amounts to X 95 in 3 years, what .
. . 310273 5981 ° 3H =S X ° e
% 102 will amount in 5 years at the same 7
rate %? kil )
(A) 117 (B) 122 (A) 117 (B) 122
() 132 (D) 142 (C) 132 (D) 142
4-DD | [8] = .
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X _9 _ x_9
028. If /1+p=g, thanx=" 028. 9fe, /1+64—8,3ﬁ?ﬁxaﬂm@m|
(A) 15 (B) 16 (A) 15 (B) 16
(C) 17 (D) 18 © 17 (D) 18
029. Ifx+L=5 thenvalucof ¥+-L=2, | 029. AR, x+%=5 @ ¥ +5=2 & "W
X 3:ﬁ X
(A) 21 (B) 23 Sqrsti-
©) 25 D) 27 (A) 21 (B) 23
(C) 25 (D) 27
030. The cube root of 0.00000729 is - 030.  0.00000729 T TG T FITI—
(A) 0.0027 (A) 0.0027
(B) 0.027 (B) 0.027
(D) 0.009 (D) 0.009
031. Find the value of x if 031. 3fe (1+%):[1+%]fﬁ?ﬁxw
33\ [ x T & BITT-
1+ 556 )= 11+ 15
(A) 1 (B) 2
(A) 1 (B) 2
©) 4 D) 3
©) 4 D) 3
032. Which is the Term of 1280 in Series 5, 10, 032. 275, 10,20,40, e 1 HI-H1 TG
20,40, oo ? 1280 37
(A) 7th (A) 7th
B) 10th (B) 10th
(C) 9th ©) th
D) T § %IE &
(D) None of these ®)
033. Tf(k—2, (2k+1), (6k +3) arc in GP, then | 033. A (k-2, (2k +1), (6k + 3) Tolec ot H
k=2 B 1 kST T =T BT ?
(A) 2 B) 7 (A) 2 (B) 7
© 3 D) 6 ©) 3 (D) 6
4-DD| [9] ——
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034. The 3rd term of a G.P. is 4. What will be | (34. Trﬁ(-—ﬂ Juft &1 T Ie 4 2 @ ‘{[Uﬁﬁr{
the total sum of the first five terms of this ot & JUH 9i9 qei T AN F=AT I ?
()
GP (A) 1024
(A) 1024
B) 1248 (B) 1248
(C) 1368 (C) 1368
(D) 1092 (D) 1092
035. Which term of AP 3, 18, 13, ........ is 78? 035. FH=R A7 3,18, 13, ..., 1 $I-TT I
(A) Ays 78%?
(B) A19 (A) A23
(C) A16 (B) Al‘)
(D) A,, (©) A
(D) Ay
036. Which term of the AP 3, 15, 27, 39.......... 036. THT=ER 97 3. 15.27. 39 T F-
will be 132 more than its 54th term? e 549 e é 13’2 3;{\%5 e
(A) 57 (B) 92 (A) 57 (B) 92
(€) 63 (D) 65 (C) 63 (D) 65
037. Evaluating cos(tan™! x) we get -— 037. cos(tan” ! x) ! B i G FAT 9 BTI-
—1
) =
S+ x B e
(B) 1+x’ (B) 1+x’
V1t x J1+ %
(D) 1 (D) 1
038. —1,1 Joh X
038. Ifx,y,ze [1, 1] such that Aex .z e 1, ]3?
iy +sinlygz=2L aqr
sin"!x+sinlyz= 377c’ find the value of S AT yET &,
2006 2007 , 2008 9
2006 4 y2007 4 208 9 Tty otz - (2006 2007 2008
2006 y2007 4 Zzoos &1 O F @TIT? y
(A) 0 B) 1 (A) 0 (B) 1
©) -1 (D) V2 € -1 (D) V2
4-DD | [10] -
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1 /5 /5
039. Evaluate tan{jcos T}weget— 039. tan{%cos 1§}qﬁ€awmwm
BT -
3-/5
N
3—-5
A) “—
®) J5+3
’ ®) 5
©) V2 2
© V2
(D) 1
(D) 1
at+tb 2 6 2
. = d the val f +bh 2 6 2
040.1F) - ab] [5 g [ findthevalueof g 0 | @ |7 “ @ drasipe
b 5 ab 58
@ anao. W w1 BT
(A) 4,5 (A) 4,5
(B) 2.4 (B) 2,4
©) 4.2 (C) 4,2
(D) 0,1 (D) 0,1
041. Simplify -
implify 041. T Hif-
9- cos® sin6 + sing sin® —cosO 9> cosO sin 0 sinG sin® —cos O
co8 |—sinB® cos O " coso  sin® €08 |—sin® cos O 7 cos6  sin®
N 10] N 10]
(A) 1 1] (A) 11
o ]! 0] o | 0]
® 1) ® 1)
c 11 c 11
© 1 © 1
5 (11 5 (11
D) |4 5 D) (4 5
4-DD] [11] T
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042. Find a matrix A, if - 042.

2 3 3 —6
SRR N o A e
T | T BAT-
[ 1 -9
) -2 4\ ) 1 —9]
, _ -2 4
. 1 —4 _ |
0 2] ®) 1 —4
,0 2
11
© —4 4] © [ 1 1]
,_4 4
o) -2 -9 _
1 —4 o) -2 -9
1 —4
x+d ab ac 5
043. Iff()= ab x+b be |, findf(x) xta ab - ac

043. 3 f(x)=| ab x+b be B

ab be x+c 5
ab bc x+c¢

(A) 3x’ + 2x( a+b+ cz)

, L £(x) T | AT EAT-
B) 2+ dxla’+ 1) (A) 3+ 2x(d’ + b+ )
(©) 4+ 2r+ by ®) 26+ 4xla + )
(D) 4" +3x(a+b+c) (C) 4x’+ 2+ by

(D) 4x° + 3x(a+ b+ c)

x—2 —3
044. If = 3, find the value of -2 -3
x  2x g 044. 2| =3, 8 dl x & 7 =
1 3x  2x
(A) 5.~ Zm-
1
(B) 3,3 (A) 7.-3
B) 3,3
©) 4,2 :
©) 4,2
(D) _3’ (D) _33
4-DD|] [12] S
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045. If from a pack of 52 playing cards, one | 045, =fe 52 919 % Ycdl § 9 Teh Ycdl foHT o0
card is drawn at random. What is the o TeRTeTT SITdT 8 o TSI =1 T <Al fepat
probability that it is either a king or YTReRdr gl ?
queen? 1

A —_
*) 1 (A) 13
b ®) &
®) 2 13
P © 5
© 3 26
20 ) &
D) 1 52
52
= il 1- tan'225
046. What is the Value of ; % 04o. 1 1 W 1 G-
I+ tan"225 I+ tan 225
1 1
(A) 7 (A) 3
1 1
B) —= (B)
®) 5 73
/3 V3
©) 5 © 5
(D) 2 (D) 2
. 0 o . 3 ?
047. What is the value of 3 sin 20° — 4 sin3 20. 047. 3 5in20°— 4 sin” 20T TF[ AR
A) 1 B) —
(A) 1 ® 5 w ®
/3
3 A
©%  mo © 3 )
048, If e = 1o th 048. AR tan’0 = 1-q Al
’ tan —3—a then secO + tan’ 0 cosec 0 = T W T BT 7
secO + tan O cosec 6 = ? /
_ )32
(A) (2- 32 (A) (2-3)
2\1/2
B) (- B) (2-a9)
2\2/3
© @ P @@
D) 1 D) 1
4-DD] [13] -
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049. The lines 2x — 3y & 3x — 4y = 7 are | (49, 3¢ T@12x— 3y 3N 3x— 4y =7 T ged
diameters of a circle of are 154 square 1 A 2 3R w154 M2 @ A e

units. An equator of this circle is
a T THY. T B (10 = 22/7)
(m =22/7)

A) Xy +2x-2y=162
(A) ¥+ +2-2y= 62 () wrywzemay =0

2, 2 _
(B) x2+y2+2x—2y=47 B) x +y +2x-2y=47

2 2 _
C) X'+ —2x+2y=47 (©) x4y =2t 2y=47
(D) X+ —2x+2y=62 (D) X' +y —2x+2y=62
d _ dy
050. What will be the value of d—i if | 050. A x— y=nB A —- H A w1 T
x—y=mn? (A) 1 (B) 3

(C) 1/4 (D) 172 051. o o el vk frpew & Tmnfad 21 o

faerey 1 fafga i)

051. The figure below is embedded in one of
the four alternate figures. Identify it.

o b
(A)
» |xp
(B)
©) %
©)
(D) %
(D) |
4-DD| [14] T

;
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052. Which of the following choices is the | ¢52.
exact mirror image of the main figure
given. (the mirror is on the right side of
the object)

(A)

©

053. Which of the following choices is the [ 053.
exact mirror image of the main figure

given. (the mirror is on the right side of

/

ﬁ/

/:

[

—/

(B)

(D)

=

:\

3 o & = egur gfaferes o o1 ==
HL| (gdur g% < fe g1 hl T 2)

(A)

/

ﬁ/

/:

(B)

=

ol 4 of\ K
R Y Sl Sy S S ——

| (o1 &g o 2fed BT hl TS )

the object)
(A) @ (B) @
w| G| e @
o @ . @ ©) @ (D) @
4-DD|] [15] T
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054. Identify the odd one. 054. Toasheul & & f9= arar =1 faf=a i)

5] [ [ [
(A)

(B) © @D

L]

o | m

Bl

(A) B) © @D

055. Identify the odd one. . .
055. faspedi § & fu= arat =i fafga =i

el 74 < e |

(A) (B) © (D

(A) (B) © @O
056. Identify the odd one.

—
O

(A) B)

056. faeheal # & = ot =1 fafa )
GO sllclb
© ) (A) (B) ©) (D)
057. fohedi @ & firer ol & fufRa

NN NN

(A) (B) (©) (D)

057. Identify the odd one.

(A) (B) © (D)

058. Hamayun’s Tomb is situated in
(A) Punjab

(A) TSTE
(B) Madhya Pradesh (B) wed el
(C) Uttar Pradesh (C) W TRy
(D) Delhi (D) ﬁWﬁ
059. Architect B.V. Doshi Designed 059. c||{.§1|'\o|q CI e a§l 4 = &@a #
(A) T Kanpur g @ fearg foram em?
(B) IIT Delhi (A) 3R, 3ME. A HEAR
(C) IIM Ahmedabad (B) 318, oms. &. faoet
(D) IIM Bengaluru (C) 3TE. 33, TH. 3IFEHSEIG
(D) 3TE. 3ME. TH. MI®
4-DD ] [16] s
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060. Who designed the city of Chandigarh? 060. =vere frad feomea femam em?
(A) Edward Lutyens (A) TEas qfea=
(B) Richard Rogers (B) =g o™
(C) Le Corbusier (C) & HRIMRR
(D) Aldo Rossi (D) Teel UH
061. Which stone is used in Dilwara temples? 061. feem Wit % ¥ deeR § S w?
(A) Granite (A) TS
(B) Marble (B) W
(C) Sandstone © ewr
(D) Kota (D) I
, o 062. 32 H @ H AfeRrr 9w fohweR
062. Major component of brick is B 27
(A) Silica (B) Nickel (A) fifere (B) Treet
(C) Carbon (D) Magnesia (C) e (D) Ao
063. Which of the following is a flowering 063. T H Y HN Y Ug | A % o 57
tree?
(A) Arjun () \'ﬂﬁ:l
(B) 3Te0h
(B) Ashok ©) éF
(C) Teak
(D) Amaltas D)
064. Which of the following is rock cut 064. T H HM T Tk Fe AR 7
temple? (A) Hrmadt Af
(A) Meenakshi Temple (B) FeaTiean et Ay
(B) Kandariya Mahadeo Temple ©) SHeATIHTY Al
(C) Kailashanath Temple (D) fermarst AT
(D) Lingraja Temple
065. i s (EE) TR F F 7
065. The three primary colours are (A) T, e TR e
(A) Red, Blue and Yellow (B) e, et 3T &0
(B) Red, Blue and Green (C) T, e 3T el
(C) Red, Blue and Black (D) e, Hhe 3T Hrell
(D) Red, White and Black
4-DD | [17] T
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066. The Extension of the Louvre, Paris, in the
form of a pyramid is designed by
(A) Eero Saarinen
(B) LM.Pei
(C) John Utzon
(D) Jane Drew

067. Which of these does not form part of
Reinforced Cement Concrete?
(A) Steel
(B) Sand
(C) Lime
(D) Cement

In questions 68-77, identify the logo and select

the correct answer from the options below:

066. <, IfE w1 fawar (veme=E) s fh
e fqufe & @@ &, foras fomam o 7
(A) B0 &fem
(B) 3E. WH. U,
(C) ST 31esH
(D) S g

067. 378« U T i 91 [EThiEs = Hshie
(R.C.C.) % T =1 fegar 98 g ?
(A) i
(B) ¥
(C) wEH
(D) "=

¥ 68-77 ® Ta& T @R ki ugE™ 7 ¢ MU

ferereat # @ T Ieaw === W)
068.
// 068. /
(A) IBM [
(B) BSNL (A) 3. ot .
(C) TATA (B) . TH. WH. TA.
(D) INTEL (C) aa
(D) ¥
069.
FJ 069. FJ
(A) Facebook
(B) Firefox (A) Wv
(C) Fiat (B) BREGF
(D) Fendi (C) Thae
(D) et
4-DD | [18] —
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070.

071.

072.

073.

074.

R

(A) Make in India
(B) Jaguar

(C) King Power
(D) WWF

7P

(A) Adidas
(B) Mahindra
(C) Amazon
(D) Avon

i
V/\/\\V
"@ A
(A) Surya
(C) Phillips

@

(A) Mitsubushi (B) Mahendra
(C) Masterchef (D) McDonalds

ca

(A) Chartered Accountant
(B) Council of Auditors

(C) Council of Architecture
(D) Chamber of Auctioneers

(B) Aadhaar
(D) ONGC

070.

071.

072.

073.

074.

R

(A) T 39 3=
(B) WX
(C) o utax
(D) s, s, Th.
(A) TEle™
(B) Hfg=al
(C) WS
(D) T
i
vf\\ \
"@ |
(A) g (B) 3MER
(C) Thferem (D) 3. T, Sfi. ©i.
(A) Trege (B) =fgwgt
(C) UTE®® (D) Hehsicsd
CQ
(A) TTEE 3ThTSHe

(B) HISHed 36 Affed
(C) FISHTeA ATH ATfehdarer

(D) TR ATH Himd

4-DD|
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076.

077.

(A) Airport Authority of India
(B) Sports Authority of India

(C) Electricity Commission of India

(D) Audit and Accounts Commission

(A) Asian Paints
(B) Digital India
(C) Planning Commission

(D) Smart City

‘VEJ\"

1&"

(A) State Bank of India

(B) Metro

(C) Uber

(D) Oriental Bank of Commerce

076.

077.

(A) TIER AARfe a1f sfean
(B) TuIcH A 1% 3fean
(C) Fifaefadt e o sfean
(D) ATfEe WS AhTeHed HIUTH

(D) @i fafe

4ug||gw-

1&"

(A) T S ATH 3fga
(B) ¥

(C) SR

(D) MU deh 3% T

4-DD|
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078.  Select the correct figure from the options | (78, foercdi H 4 foret Tk 1 == L ST T
to continue the series to replace the = &1 afY tEﬁ Exent
question mark.
©)
(D)
079. Select the correct figure from the options 079. frepedi 3 @ Rt ws o1 =T HE ST T
to continue the series to replace the ' 5 €1 Aoft Iﬁ —
question mark.
® ol @ e lpl
o A ° .l 3 .
(A) v (B) (A) _ (B)
Hn [ o
R R L K
o I o [ ©F (D) | .

4-DD |
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080. Select the correct figure from the options | (8.

forehedt § O Toret Weh 1 == R S U

to continue the series to replace the 3 f é\mﬁtgﬁaﬁ:lm
question mark. [
i ?
| ?
(A) % ®)
A) s ®)
(©) ﬂ (D)
(©) ﬂ (D)
081. foeredi o & forell T o1 <=M &L S I
081. Select the correct figure from the options = 1 9o} tﬂ?{ Exantl
to continue the series to replace the
question mark. A
e |
NN ) (B)
NN | (B)
(©) Q (D)
(©) Q (D)
4-DD | [22] R
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082.

Select the correct figure from the options | (82.

to continue the series to replace the

question mark.

forepedt & 9 fordlt Tk o1 == L S U9
o= 1 aoft ot |

By,

By,

Bkl
CIYNIYNE

=
CIYNIYNE

083.

(A) %; (B)

O
© |5 % (D)

Select the correct figure from the options

NN

to continue the series to replace the

083.

-
&

Toreheat § @ fordft T 1 =39 L ST IH
o= 1 aoft gt |

question mark.

4-DD|

[23]
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084. Select the correct figure from the options

to continue the series to replace the

question mark.

=

SE

(A)

©

(B)

6')

(D)

084.

Torepedt d o Toreft T o1 =oAL S U

o= 1 aoft ot |

5

~E

(A)

©)

(B)

(D)

085. faehedi ® © forelt w1 = L S Y9I

085. Select the correct figure from the options o= 1 aoft ot s
to continue the series to replace the
question mark. . _ . _ = 9
- [=] é [=] * =2 o ?
(A) =
(A) =
[
(B) =
[
(B) =
| —
©) | =
© | T
 —
(D) .
 —
D) .
4-DD | [24] = .

gcollegedunias



086. Select the correct figure from the options | 086, faeredi § 4 fore) Teh T == R AT TH
to continue the series to replace the = &1 afY tEﬁ Exent

question mark.
¢ |-o|-o

¢ |-o|-o
o +?“"

oo |2

*

b4

°
¢

(A) ‘— (B) —?— ) L ® _?_
o o _‘ ©) |—@—| o —‘

087.  Select the correct figure from the options | (g7, fysedt ¥ & fpeh Teh Rl T L S T4
to continue the series to replace the o= 1 aoft i oy

. S
G T
Q)

©

A 2

| PP

)
, T
0 ®
© o (A) m (B) |
(A) | ‘ | (B) I
() ()
‘? N\ ©) | ‘ | (D) | | |
©) (D)
4-DD | [25] -
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088.  Select the correct figure from the options | 088, foaercdi H 4 foret Teh 1 == L ST T
to continue the series to replace the 3 f é\rcrﬁt@aﬁ:m
question mark.
(o ]
‘ ;‘é O‘O 0|0
o|Oo
oONO
OB OIS
O O ~
p ~ dp|cxD| ?
dp|cxD| ? —
@ o[o
© oo @A) | ( S )| (B (o o)
A) | (C )| B) |( ) ©
(A) ©® (B) 55
@
© M © €L 19| o |CLIO
© € ]9 o | ]9 O
O »
089. Write the missing numeral. 089. WWWE&'
(A) 14 (A) 14
(B) 21 (B) 21
(D) 18 (D) 18
4-DD ] [26] -
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090. Write the missing numeral. 090. T« &A1 TG B

6 8 6 8
2Q)s5) (¢ @7 2@ s) (¢ @
19 9 19 9

(A) 3 (A) 3
B) 2 (B) 2
© 1 ©) 1
(D) 8 (D) 8

091. How many faces/surfaces does this object | 91, = &t 7 ELs| % dei hl A &I T
have? Hi|

(A) 12 (A) 12
(B) 10 (B) 10
©) 13 (C) 13
(D) 15 (D) 15

092. How many faces/surfaces does this object | 092. = & TE awq & dcll HI FaI T F1q

have? eyl
(A) 14 (B) 15 (A) 14 (B) 15
©) 12 (D) 13 (C) 12 (D) 13
4-DD| [27] T
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093.  The below diagram is the top view of an | 93, yv7 fazx W T % S HT gSF T B
object. Identify the object with the given &3 U foepedt § § 35 3iferd hiferT i

top view that cannot have the elevation 39 o] of=a T e 2

from the side of the arrow.

(A) (A)

(B)

(B)

©)

©)

(D) (D)

[ <y
Gy e

4-DD ] [28] -
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094.

The below diagram is the top view of an

094. T T T I%q % FHW H g g 2l

object. Identify the front elevation of this & T et & Ty AT T v _Y
object. =3
" A ®
N A "
N A ©
v ®)
L1 | C ]
095. How many triangles are there in this 095. 3 fd v i ff Bee B § 7
figure?
(A) 27 (B) 25 (A) 27 (B) 25
(C) 23 (D) 21 (€ 23 (D) 21
4-DD | [29] ——
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096. How many triangles are there in this | 96, = fea & fuz 4 foraw Bepior & 7

figure?

(A) 23
(A) 23 ®) 27
(B) 27 ©) 29
© 29 D) 31
(D) 31

097. How many squares are there in the figure

097. T fR W g d a8 ?

below?

(A) 20 (A) 20

(B) 13 ®) 13

©) 24 (C) 24
(D) 17

(D) 17

098. = fed ™ oz d forqa i 8 7

098. How many squares are there in the figure

below?
(A) 18 (B) 19
(A) 18 (B) 19 (€) 25 (D) 27
(C) 25 (D) 27
4-DD | [30] — =
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099. How many squares are there in the figure | g99, FRRA W R A P 1 & ?
below?
(A) 11 (B) 21
(A) 11 (B) 21
(C) 24 (D) 26
(C) 24 (D) 26
: o= forelt Uk foehe o TR
100. The figure below is embedded in one of 100 ?}q N ,EEF . 8l w
o faeheq @l fafed i
the four alternate figures. Identify it.
| —
[
L
- L
L 1
1 (A)
S i B
B ‘H‘
7] L 1
C
© | = © 1
| e I
- D —
4-DD | [31] ——
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SPACE FOR ROUGH WORK / &=al % & fol@ e
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